ct] =3t o}
|_I-'EI o d o7
1. A% A={a,b,c,d} o] FELAF} T Y4 b= ZFot | 6. tholA] JAA A2 25 2 7HA7E?
2] %= HFEAGO] |58 Hotoi=t
O A MEY 2
© YUt FeEe] 1Yl
© 2 49 e
2. AARAR} U 9o F FEAR A, Bl ot n(U) = © Arrse] mal
30,n(A) = 15,n(B) = 12,n(ANB) = 9 & o
n((AU B)°) & otk @ 9 gho|A 5k & sk sy ] el
@ 17 @ 27 ® 374
@ 47\ ® 57
3. = HE A ={1,2,3,a},B = {1,3,5,b} o tiste]
ACBolll BCc AL W, a+ b2 S Fstoizt.
7. A A 9 AFEEARO] 47 31 Y i, n(A) 9
@29
4. 5 F &= A2 @1 @ 2 ® 3 @ 4 ® 5
® A={a,ba,b} € W n(A) =4
@ n ({x | z= 3°I5te] A1) = {3}
® Do R 8. 3 A o AFEET] 47 15 WY W, n(A4d) &
n({a7 , Cy })—TL({(L ) })_ —7—'3}-0111]'
@ n ({o|ze 179 A} =1
® n({2,3}) —n({1,3}) =2
5. & A& A, B ol tiste] n(4) = 30,n(AUB) =
56,n(ANB) =12 4 ©, n(B) 9| = Fotoi=t




9. thZ ¥l thojo] 151 o] At RS et 27
A B
C
® A-(BUO) @ (BUC)-A
® B-(ANnC0O) @ AN(BUO)
® A-(BNO)

H 9
REAT A = {s|sE39 R}, B =

{z | 2 89] o) o] thstod, (B — A)° 27

@ {1,3} @ {1,3,6}
® {1,3,7} @ {1,3,6,7}
® {1,3,5,6,7}

1188 A = {z|r nBr 2 49] wi5} of tistel s ¢ A
o1 12 € A & WESI= RE AAS g 9] TS T3}

ofzt.

13.55101] ¥ S o2 2] 3t HEES =
AFSEE Y Sohe Folsts SHol 20, ASS Fol
S Spgo] 179, ok} A58 B Fofsh she]
87017 2ok Zoksh ot el 157l ol
2okt 4. 8-8 B Zoloh] gh SMY 2 Fsfolel.

14. ﬂ%‘ P o tiste] [A] = {P|P c A} 2 Ho|git}
={z,y,2} @ W, J& (4] € daHEH o= Yt
14101&}.

15484 U = {1,2,3,4,5,6,7,8} ] F F25F A =
{1,2,3,4,5} , B = {4,5,6} o tistd 4°nBen X
{8}, (A—-B)UX = X S Wr&Est= U o REHT X
o] 72 Fstofet.




